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Question 1

b2

Compute the lower Riemann sum for the given function g,y =3 —

over the interval x = [0, 1] with respect to the partition p= l 0,

-hll—t
-h|l.~:u
“I—'-
s

a) © 165,
by © 81
¢ © 1%,
Q) © 5,

¢) C 173/64
Question 2

Given that

find

a) C6
b) € 10
c) ©2
d 9
e) O3
Question 3

The graph of g (x) is shown below. Regions V, VI, VII and VIII have areas 4, 3/2, % and 5 respectively.

10f10 11/21/2011 6:49 AM



Print Test https://assessment.casa.uh.eduw/Assessment/PrintTest.htm

glx)

v Vil

e

Compute the following integral (pay attention to the endpoints).
6

JD 7 ) dx

a) C 16
b) €1
c) €18
d) €26
e) C6

Question 4

Find a formula for f{x) given that f'is continuous and

-

P S A
fx +x —3x JD—H_IdI

a) C sry=-a3L 4403
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b) © Axy=(-6x +"—3%) (x+ 1)
) C sxy=(-42 447 =3} (x+ 1)

d) C Ar)=-6x"+5" — 3%

s 1

e) € fx)=-gx +ox

Question 5

Given that x > -7 and

find F(4).

a) € 411
b) € 13JH/11
¢c) €0

d ¢4

e) CVIT

Question 6

Find the derivative of the function F

a) © (sin(x) +xcos(x)) ,,-"I 75 —

b) € (sin(x) +xcosix)) J 25 — (xsin(x)

©) @[5 42

(xsin(x))

_xsinl x|

) =J J15—F &

d ¢ -

e) © [35 (xsin(x))?

J 25 = (xsin(x))?

]2
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Question 7

Evaluate the definite integral:
3
J [ﬁ T+ x3] dx

a) C 44

b) € 20

c) €%

d) c 362/5

e) € 38

Question 8

Evaluate the definite integral:

a) 8
b) €4

o) © 104

d) € 434

¢) © 9%

Question 9

Find the area bounded by the curves

2
r=l-x
p=13-"Tx

a) € e
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b) c -,
1

¢c) © /12

d c-%

e) © 14

Question 10

Calculate the indefinite integral:

a) © %x2+%+f:'

3
c 5x+8+

3
X

b) c

c) © %x2—4x+i:'
5 a
d © T ¥ —4x+C

e) © Sr4 g
X

Question 11

Calculate the indefinite integral:

3 +?I +
l 7
) O —+ +
) CRREL

50f10
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e) C 147 + %P‘%c

Question 12

Calculate:

a) C [ Prex—1+0C
b © s /Pv6r—2 +¢
) 13/l vEr—2 40
dC 5 /Pv6r-2 +¢

) C 3 /P+6x-12+cC
Question 13

Calculate the integral:

a) © ;—cns?(2x3+t.’f

b) € —%sin?[ﬁxj+0
¢) © ;—sin?[ﬁxj+£"

d © —%cns?[zxj+0

e) © %cns? (2x) + ¢

Question 14

Evaluate:

2%+ 36 i

\,-"Ix2+ﬁx—2

qusﬁ (2] sin(2x) d
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A 2
J 0% (44257 dr
-1

a) € 28
b) © %
¢c) © 37/3
d) o 28y
e) © 56

Question 15

Find /* based on the following information:

Fro=11r —x
=
Al)=5

a) © f{x}=é—x4—é—x3+4x+l

2 35 1 2 19
b) C f{x}=?x —?I +?

c) © f{x)=é—x4——x +4x+
1 4
d ¢ f)=gx — X taxt o

e) © f{x}=—%x3+é—x - —

Question 16

Find the average value of the function f{x) on the interval [0, 6] and determine a number c in this interval
for which f(c) is equal to the average value.

Flx)=12x— 65
a) © Average value =-36,c= 1 [T
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T |7

b) € Average value =-216, c = T

¢) © Average value=0,c=0
d) © Average value =-216, c = -72
e) © Average value=-36,c=14 [T

Question 17

Which of the following integrals represents the area of the region bounded by the curves, y = 212 ,

-3,and y =0, in terms of x?

y=x

3 4
a) © {—zﬁ}dﬁj (x—3) dx
0 ]

e) © '{—zﬁ]dﬁj (-x+73) dx

Question 18

Which of the following integrals represents the area of the region bounded by the curves, y = 7512 ,

-8,and y =0, in terms of y?

y=x

0
1 2
a) € J [—49.}‘ —y—E]dy
-7

|

1 2
s _ b
b) J?[.HE 49.}‘)@

1 =z
C)Fjﬁfdf
0

8 of 10 11/21/2011 6:49 AM



Print Test

|

) C| prew

-7

.8

1 2
e) © J [.P+3—ﬁyjdf

1]

Question 19

Sketch the region bounded by the following curves and find the volume of the solid generated by
revolving this region about the x-axis.

a) € %ﬂ:
b) € %n
¢c) © %ﬂ:
d © %ﬂ:
e) © %ﬂ:
Question 20

Sketch the region bounded by the following curves and find the volume of the solid generated by
revolving this region about the y-axis.

13

c —
a) 7 T
b) € —2; ™
34

c —
c) =

90f10

St
e

=
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